ik f5&-008-fE1=E

/3

15TEIDYNA DS 5. 12ICBHAVWEEZTZATLIET L,

=
QMOBHEO S5, 120B8IEFESHD EFTH 7
=
210BHE NI VIBIC3DBFERATLIEE L,
=

aAX2 b




CIE=3 5&-008-[E1 % /3

15TEIDYNA DS 5. 12ICBHAVWEEZTZATLIET L,

= 135
HIOE#H DS S, R2OoBHIEFAESDETH?
% 8@
210B#E DT WBIZ3D2BFZTLHETWL,
- 21,4263

aAX2 b




EifEE] DEE - B NVAEE-008-RE

/3

(4,6, 10)DB/NABHEZTZITILEE L,

=
(6,21)DRINABHREEZ T T W,
=
(10,15) DA fBHE /NI VIBIC3DBEATLIEE L,
=

Xk




[E& RIEE - |/ NREE-008-[E1F

/3

(4,6, 10)DB/NABHEZTZITILEE L,

= 60
(6,21) DR NABHEEZTLHETE L,
& 42
(10,15) D AEHE NS WVBIC3IDBERZ T T,
= 30,60,90




